10

11

12

18

19

20

21

22

23

24

EXTERNAL SURFACE

JED-253-3

JED-256-3

JED-471-0

PLASTIC

JED-256-1

Vi

JED-00T7-1

B136

A

18+0.3

!

max 258

I

)
&/

a—

- X2

o

AT

40

60

| - . |
iig))

L
-
7240.3

S |

102

=

—

TECHNICAL DATA

e

6082

L

/':
'l my B |

M max = 60 Nm

3x M12.5x1.5

AT

6910.3

16+0.3

A

(145)

!

MEDIUM:

WORKING PRESSURE:

MAX. PERMISSIBLE FREQUENCY:

MAX. PERMISSIBLE ACCERELATION:

Non e permesse consegnare o terzi o riprodurre questo documento, ne ublizzame i conteruto o renderlo comunque rote Q terzi
senza autorizzazione esplicita. Ogni infrazione costiluira un evidente abuse e camportera il risar cimento dei danni subiti.

E'fetta riserva ci futti i diritti deriventi do brevelti o modelli.

auforisation expresse. Touf monguement o ceffe regle constitue un abus evident ef expose son outewr ou versement de dommoges et

Toute Communication ou reproduction de ce document, foute expleitation ou communication de son contenu sont interdites, souf
imerets. Tous draits de propriefe industrielle reserves, notamment en matiere de brevels ef de modeles.

Copying of this document and giving i to others ond the use or communication of the contents thereof, are forbidden without express

aufhority. Confravention of this resfriction will constitute on eviden! abuse ond result in o liability to the payment of damoges. All rights

Weiernabe sowie Vervisoshigung dieser Unteringe, Werwertung und Mifteilung ibres Inhalts nicht gestatiet, saweit

COMBINED UNLOADER

COMPRESSED AIR
Pe MAX = 13 bar
50 Hz

10 xg

CUT OUT PRESSURE:

OPERATING RANGE:

TORQUES FOR CONNECTIONS:

(1) INSTALLATION POSITION AS DRAWN

are reserved in the event of the gront of patent or registration of o utility madel or design. This document is the subject of copyright.

nicht qusdruecklich zugestanden. Zuwiderhondlungen siellen einen offensichtlichen Missbrauch dar und werpflichfen zu Schadenersatz.

Alle Rechte fuer den Fall der Patenterteilung oder Gebrauchsmuster-Einfragung vorbehalten.

DYNAMIC PRESSURE OF SAFETY VALVE:

9.0£0.3 bar

1.3£0.4 bar

15*8 bar (BY Vn = 100 dm Fmin)

M12x1.5: Mmax = 21 Nm
M22x1.5: Mmax = 53 Nm

Ra 3.2

C Rmax 25

T MOUNTING HEIGHT

161.7£2.5

PRO 124 Q01 2

4/234)

AT

Nl

22

20

0.1C

Ra 12.5

M22x1.5

MAX 120

4/23

2204

|

Ra 3.2
C Rmax25

&y

M22x1.5

(30)

2143

ADJUSTMENT MARKET WITH PAINT

| /Z2

>

o — i —— — i —— — . — — = — — i — i —  — i — -

@ Ra 3.2
C Rmax 25

iy

(24)

jo= N
O
>
M12x1.5

ol

(1)

|
L
{

i
\

I\ |

N J

=0a

Nl [T

|
i

PORT  |FUNCTION

THREAD

1 @ FROM THE COMPRESSOR

M22x1.5
d=15

21@ TO THE RESERVOIRS

M22x1.5
d=24.3

22 TO RESERVOIR FOR REGENERATION AIR

M12x1.5
d=12

3 EXHAUST FOR COMPRESSED

AIR

4/23 |TO THE COMPRESSOR (PLUGGED)

M12x1.5
d=12

MANUFACTURING PLANT 2:1

DATA MATRIX CODE

WEEK OF MANUFACTURE /
YEAR OF MANUFACTURE

IDENTIFICATION NUMBER

ﬁ General Specification: 150 8015, JED-334-1, Size 150 14405 LP

Copyright WaBCO® Pr—\ ’_l
Further Technical Datas FRO 122 008 O Date | Signature o a

Doc. Code: 035 Sheet: 1T Ta 4

General Tolerances JED-261

2022-07-05DFG|WH mm A I R DRYER

Checked

Dimensions in mm

Scale Material MNe.

Dote of first issue:  2OM8-07-03

111

Range of Nominol Dimensions [ 4+ mm) 2022-07-06 | Pawlowski
> 501> 180 <I
Class 1) | = 90 | =180 |« 400> 400
Fire +0.5 | 4.0 | 415 | +2 Moss
medum | X | £ | 2 | £ | x4 | £3° 3‘5@
Coorse +2 +3.5 +5 +6.5 Size

CAD Sysfem

(2:1, 1:2) PRO 122 006 O

Doc.Code | Longuoge

Sheet

005 | EN

171

Tapped Holes ace. -

1) Toleronce Closs Applied Crossmarked

Rewvision Techn. Resp. Replacement for

f\ ECH-Mg.
AO | 0 [ 50800

2x D |5050_AM

10

1

12

13

14

19

16

17 18

19 20 2]

i |

!
100mm

==

drw: PROI220060____005 / Version: mSmm: Under Review / rydl: PRO1EZOOEO#MAOEO




